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1 L | AFaE K 40 42 82 9.0 73.0 |HAY
2 fir | EH B 44 37 81 5.0 76.0 |EHY
3| FEH EEE 43 43 86 10.0 76.0 |HAHY
4 L | ARK FARE 40 41 81 4.0 77.0 |EHY
5 i | KI5 40 43 83 6.0 77.0 |'HAY
6 17 | B B 43 43 86 9.0 77.0 | HAEY
70| KRG —R 46 41 87 10.0 77.0 |HAEY
8 N [/ JE 45 42 87 10.0 77.0 | EAY
9 7 | KR AT 44 46 90 13.0 77.0 | HAY
10 A7 | B/ FH—RR 45 46 91 14.0 77.0 | BEAY
11 A7 | FH #6 51 46 97 20. 0 77.0
12 fir | gl PRER 48 51 99 22.0 77.0
13 A7 | 78 (£= 48 53 101 24. 0 77.0
14 {7 |7 R 44 42 86 8.0 78.0
15 A7 |INH 3L 45 50 95 17.0 78.0
16 fif | =% B8 44 52 96 18.0 78.0
17 A7 | TH 16K 52 49 101 23.0 78.0
18 {7 | F)Il 5Lk 41 39 80 1.0 79.0
19 A7 | FIA Fosg 43 47 90 11.0 79.0
20 1 | Ry B 46 51 97 18.0 79.0 |EAY
ARVAES 53 48 101 22.0 79.0
22 AL | 1EHI 42 48 90 10.0 80.0
23 A | Rl Z&ah 47 47 94 14.0 80.0
24 AL | &R M OKER 50 44 94 14.0 80.0
25 {if | ZZH Fil 48 47 95 15.0 80.0
26 AL | BT 45 57 102 22.0 80.0
27 A | LA fdk 53 51 104 24. 0 80.0
28 AL | #nil HEyE 55 55 110 30. 0 80.0
29 {7 | fBA 1E 48 47 95 14.0 81.0
30 AL | R KR 49 49 98 17.0 81.0 |'HAV
31 iz [N B 43 46 89 7.0 82.0
32 L | il i 47 47 94 12.0 82.0
33 fif | BLH KRAY 48 46 94 12.0 82.0
34 AL | PR AR 51 50 101 19.0 82.0
35 | Ms & 48 51 99 16.0 83.0
36 fif | f&1r 1E 47 53 100 17.0 83.0
37 L | ik T 49 52 101 18.0 83.0
38 {if |WEH =k 57 49 106 23.0 83.0
39 1 | i #in 56 52 108 25.0 83.0
40 {7 | (LB 47 52 99 15.0 84.0 |HAY
41 A7 | —A) 49 51 100 16.0 84.0
42 ff |3t B 50 57 107 23.0 84.0
43 N [ Bk 46 51 97 12.0 85.0
44 o | &l ZRok 54 55 109 24. 0 85.0
45 AL | B 57 58 115 30. 0 85.0
46 i | Wbl Yn7- 54 48 102 16.0 86. 0
47 fir | Ep TEA 51 44 95 8.0 87.0
48 {7 | 1L 2 51 45 96 9.0 87.0
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49 fif | E&% &2 49 45 94 6.0 88.0

50 {7 | JELH [l 52 55 107 17.0 90.0 ‘EHAY

51 {7 | [ &F 67 59 126 36.0 90. 0

52 L |INH F1 56 71 127 34. 0 93.0 |BB

53 fif | iy — =% 57 78 135 29.0 | 106.0




